Number of Events

400

200

e Pythia_ref
B Other
L ] e-et:2.6%
L Jee+:9.2%
[ 12Z0j:22.8%
L 170:62.2%




Number of Events

400

300

200

100

e Pythia_ref
B Other

=
D
+

L ] e-et:2.6%
[ Je-e+:9.2%
[ 1Z70j:22.8%
L 170:62.2%

=]
|

|IIII|IIII|IIII|I
—

N
— %17

ol i st
150 200 250
sumPt (GeV)

I B
50 100



Number of Events

e Pythia_ref
le+ B Other

= L ] e-et:2.6%

L Jee+:9.2%

[ 12Z0j:22.8%

B L 170:62.2%

200 |

100

—e[]




Number of Events

e Pythia_ref
le+t B Other

= L ] e-et:2.6%

L Jee+:9.2%

[ 12Z0j:22.8%

B L 170:62.2%

200 L

100

—e[]

|
10 20
clusteredObjectsRecoll p. (GeV)



Number of Events

200

150

100

U1
o

=
D
+

e Pythia_ref
B Other
L ] e-et:2.6%
L le-e+:9.2%

a ] 20j: 22.8%

i Dl 70 : 62.2%

i I [

| I %FF
) T 1]
i L — ] E i
Ris -
| | | | |
-4 -2 0 2 4




Number of Events

200

150

100

U1
o

IIII|IIII
T

=
D
+

e Pythia_ref
B Other

——

L ] e-et:2.6%
[ Je-e+:9.2%
[ 1Z70j:22.8%

Dl 70 : 62.2%

It
it

e* detEta




Number of Events

200

150

100

U1
o

=
D
+

e Pythia_ref
B Other

3

L ] e-et:2.6%
[ Je-e+:9.2%
[ 1Z70j:22.8%
[ L 170:62.2%

L

[ —e— [ |
\_‘

=e=T11

0 2
e’ ¢ (radians)




N
)
)
o

Number of Events
N
(@)
(@)
o

le+

i+l

e Pythia_ref
B Other
L ] e-et:2.6%
L Jee+:9.2%
] 70j:22.8%
L 170:62.2%

uncl P (GeV)




